
Nombres Décimaux (F)
Trouvez chaque somme ou différence.

47 - 45 = 49 - 0,54 =

90 - 1,8 = 0,77 + 7 =

47 - 0,68 = 8,1 + 9,6 =

87 - 52 = 36 + 45 =

51 + 1,4 = 3,4 - 0,33 =

88 + 2,8 = 55 + 0,79 =

6,6 + 2,5 = 0,14 + 1 =

17 + 0,3 = 4,7 + 0,56 =

89 - 0,24 = 52 - 4,4 =

96 - 2,2 = 5,9 - 0,39 =
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Nombres Décimaux (F) Solutions
Trouvez chaque somme ou différence.

47 - 45 = 2 49 - 0,54 = 48,46

90 - 1,8 = 88,2 0,77 + 7 = 7,77

47 - 0,68 = 46,32 8,1 + 9,6 = 17,7

87 - 52 = 35 36 + 45 = 81

51 + 1,4 = 52,4 3,4 - 0,33 = 3,07

88 + 2,8 = 90,8 55 + 0,79 = 55,79

6,6 + 2,5 = 9,1 0,14 + 1 = 1,14

17 + 0,3 = 17,3 4,7 + 0,56 = 5,26

89 - 0,24 = 88,76 52 - 4,4 = 47,6

96 - 2,2 = 93,8 5,9 - 0,39 = 5,51
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